D1vISION WITH A REMAINDER II (H - SET 2)

PIVISION WITH -10 1O 10 1;?121: Score: y—
21 47455 + (=8) = 59 6288 =+ (—1) =
22 —31305 + (—5) = w2727 + 8 =
23 —92311 = (—10) = 59 3595 + (—1) =
2y —33976 = (—7) = w) 19777 + 4 =
29 40161 + (—9) = “o - —52516 + 8 =
2 —49517 + 7 = u) 88837 + 9 =
) —11061 = (—=9) = w2 3215+ 1 =
299600 = (—6) = un 38108 + 10 =
29) 42467 + (=5) = un 24501 + (—4) =

130 —40937 = 6 =
By 1698 = (—1) =
W) 24831 = (—5) =
@) —14355 + (—9) =
5 —56415 = (—6) =

135 36296 + 5 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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445)

446)

447)

448)

449)

450)

—56549 + 6 =

76835 = (—8)

34170 + 5 =
8829 = (—1)
4864 = 2 =

5741 = (—3)
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